&F0 645y i = X 15
RIS A= 4} MBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
& Bl Eﬁﬂ@kwﬁﬁ%ﬁwﬁbBﬂfwéﬂ Mﬁ Lf%ié%ﬁ£$%£$%£ ’ ’
ik S B A P D f2 B XS —fti 4.8% 7.5 —| —
ERRLIA o Hithe 40 | L.1|% 6.7 7.9%E 3.6 3.6
rEs = SR BT N D J= LI —{#l 6. 3E 9.0 - -
_ERELAS 0 HitR 40 | LO|F 9.1 11§ 5. 2% 5.2
N A A gﬁﬁﬁkwmﬁ%ﬁwﬁbEhfwéﬂ
1 A Tt B R AR A T XA a0 | Rl e EE R
2 LRI o Hitk 40 1. 1 |JE] bk HEE b e AT b 9
EFLLISN O HilE
1 FREEIRG R o B T —l T o 6.3 | —
2 _EFLSh oM 40 | L1|F 11 7650 4.0 4.9
k| 24T = S AR AR PN D f12 M IR —fil 4. 50 6.8 —|  —
_EECLIA 0 HiE 30 L1$58$9AF31%31
REH gﬁ%@tﬁﬁﬁ%ﬁ@ﬁb6hfw5% 40 Ll%%ﬁ%%ﬁﬁ%ﬁ&%@
Fr S iR B N D f L Ok it 4.5 6.8 | —
LS o HIE 40 | 1L.1|F 5.8 8 9%t 3. 3t 3.3
2y ML EEn 40 | 1.1 | bbHEE bh T b Y b 2
GG $$%@L®%ﬁ%@@ﬁbaﬂfw5ﬂ 40 Llﬁ%ﬁgwﬁﬁwﬁﬁwﬁ
Pt SR B IR PN 0D B PR M Dk —mSﬁFSQ - -
FRLASR o iR 40 | 1.1 | 5.4 8. T 3. 64 3.6
Jagst PR A5 B b gl Y oD JE FH e Xk —fid 4.7 6.7 — —
LERLIA o Hig: 30 | L1|P 5.gd 9,360 2. 9% 2.9
i Fn e R BT PN oD o P i DU it 3.8 8.2  —| —
_EEELIAN 0> itk 30 | L1|% 4.9 1280 4. 3% 4.3
ety o S 41 L ML ) 00 f D L IR —fFl 3. 70 7.5 — —
LIS o HHE 30 | L1|P 4 i 2. 8

4 UﬁZﬂ




ST 6% 5y i =R * 2H
I KE A4 . BRT B R
S (TR wass @M m oW g [P ACEERTEECEA RS
% A = * ® = # ®
7y AT i 30 | L1|F 4.4F 135 2.3 2.3
| e o2 4 M I PR 0D 2 P 3 DX —#t 3.5 6.2 —| —
LELIA 0 HE 30 | 1| 570 8 el 3. 1 3.1
R <7 gﬁﬁﬁmﬂ:@ﬂ%fﬁmﬁ@ﬁ&) ERTWaH (40 | 11 Eth@%tb@?ﬁtb@ﬁth@
i S B A PN D J A 0 i 4.8%6 7.5 —| —
RFRLAA O Hi b 40 | 1.1 |d 6. 1fF 7. 960 3. 6l 3. 6
E < br E1~ 3T BRFERIME P O X —l 7. 200 6.3 —| —
EFLLASN O Hi ek 40 | 1.1 (f 11 7.6l 4. Ol 4. 0
L| B = SR MR PN oD f T L X3 —fidi 6. 1 6.2 — —
LIS o 40 | L1 |9, 1fdr 9. ot 3. 9 3.9
ARCE Fo SR BB PN D F2 P L 0k —# 3.8 8.2f - —
ERCEASR D il 30 | 114 4.8 120 4. Br’ﬂé 4.3
MWET 1 ~5TH RiEk 40 | L1 | B HEE H B L T
HEL Fi SE4R FLHHIEE PN oD fi R L SR —J#ti 3. 4[;& .1 - -
_EEELIS 0> itk 30 | 1.1|% 4. 1f 104 3. 4Kk 3. 4
| H gﬁ?ﬁﬁrwﬂaﬁt@&@ff&b BRTWAHHL (40 | 1.1 Eth@ﬁtﬁﬁ[ﬁwi@mt@
e IR BT P oD 2 L K35 —l 4. 800 7.0 —| —
EFRLASN O HiiEk 40 | 1.1 7.1 8. Ol 3.8k 3.8
7| LA R SR B P oD 2 P M X3 —l 3.3 7.3 —|  —
FRLAAR 0D ik 30 | L1 A L1 4. 36 4.3
Bl Ak1~10TH ﬁﬁﬁi@k@%ﬁf@i@z@ﬁ&) HLTWaHHE [40 | 1.1 Jﬁlttifélﬁltti‘éﬁitt@ﬁtﬂ@
2 S AT PN D 2 T e XS5 —ti 5.0 6.3 —| —
_ERLLASS oD i 40 | L1|% 7. UF 9. 4l 4. Ol 4. 0
s B R S TR B I P oD JR P i X —fl 5. 40 9.0 - -
ERRLIA O Hittek 30 | L1|h 7.9 11Fm 5. orﬁsﬁ 5.0
7R R ﬁﬁjﬁ%@h@ﬁﬁiﬁt@iﬁjwﬁb HALTNDHL | 40 1. 1 |J8 2B b b v b T




&F0 645y i = X 3E
I KE A4 . BRT B R
R I B B B S B =y i TSt v
% e = * ® = # ®
72 8 RFLLASR > HiE 40 | 1.0[F 6.5 11 5. 5l 5. 5
3 RAH o2 4 M I PR 0D 2 P 3 DX —Ft 4. 4fe 6.8 —|  —
LELIA 0 HE 30 | L1|f 5.9 9. 40 4. 6l 4.6
£| A P 3 4 BI85 N D R R ot X 44t 8.9 | —
EERLIA o Hitkek 40 | L1 7.4 9. 4%k 4. T@q 4.7
wEs1 - 2TH ik 40 1.1 Jﬁlttzﬁﬁthf%[ﬁhti’éﬁtti’é
TAFR gﬁﬁ@kwﬁ%t@i@ﬁ&b HRTWBH (40 | 1.1 Eltt%é’;ttféﬁbt@mtfé
i IR BRI PN oD S X 3 —l 4908 11— —
ERCLLSR D Hitksg 40 | 1.1|% e.gf 12%f 5. 0fd 5. 0
A B ot SRR BB P D 2 Y Mt D —# 5.5 8.9 — —
RFLLASR > HiE 30 | L1|# 6.5F 124 3. orm 3.0
Bl BALHL L~ 3T BRI 40 | 1.1 | Ch YRR b b b
&| HER gﬁﬁrﬁkwﬁﬁﬁt@aﬁ@ﬁ&) HILTHAHL [40 | 1.1 JEJLI:@J’;J:I:ZEFHH:EFE%Z’%
IR FE IR BLHIIR N D J= M X3 —ffd 4. 5 9.0 - —
ERELAS 0 Hit 40 | L.1[F 5.8 9. 4% 3. 64 3.6
b A B TR LI PN oD 2 T X —l 5. 40 6.7 —| —
EFERIA D HirE 30 | L.1|F 6.5F 9.2 3. TE 3.7
LFEeist Eﬁﬁi‘@k@ﬁﬁiﬁfﬂiﬁﬁ@?’f&) DILTWDHL
1 B At e A T K A B0 | fER =B fEBY fER
2 nHH SRR X 50 | 1.1 | B3R bt b e b v
3 LFEEIA o M 40 1.1 EJJ:I:@JEI:I:EWJ:I:%FHI:EE
EERLIA o HiE
1 REIRE e o B2 T Ik —l 5.6 8.7 —| —
2 LRELIA o Mt 40 L1 6.7 11 5. 26 5.2




